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1) 5/17 of 34 2) Find the mean of the following set of data: 3) 24.3x42.4
1,31, 13, 35, 11, 0.8, 26
Answer: Answer: Answer:
4) (-40) x (-9) 5) (-40) x (-9) 6) 6/g
81
Answer: Answer: Answer:

7 8) 2/7 - 20/14 9 %ol ve _by factorising
j¢-10)+9=0

Name the type of angle.

Answer: Answer: Answer:
10) 2 5g-10 g 11) (51315 12) b /
a 0 c
Measure angle boa
Answer: Answer: Answer:

13)  Increase 35 by 84% 14) Convert the following improper 15) A number was shared in theratio
fraction 12/13 + 181/2 into amixed 9:30. The smaller share was 45.
number What was the larger amount?

Answer: Answer:

Answer:
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16) 544 - 257 17) $350.98 earning 7% compound 18) 03:19 am To 07:27 am
interest for 2 years.
Answer: Answer: Answer:
19) 41x 10 20) Find the percentage change from 62 21) (-504) - (-976)
t0 37.2
Answer: Answer: Answer:
22)  1517-326 23) 24) 19 13/,5-10 6/
A B=35
Find the Angle at side A.
Answer: Answer: Answer:
25)  Convert the following improper 26)  Increase 158 by Y/ 27)  Increase 158 by 1/g
fraction 28/, + 11%,, into amixed
number
Answer: Answer: Answer:
28)  Increase 158 by 1/79 29)  Findthemedian of the following st of data 30) Write4x 107 asanormal number.
3,17,7,29,15, 34,5, 28, 16, 2, 4,
22,16, 31, 29, 21, 27, 29
Answer: Answer: Answer:
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31) 8/, of 134 32) 353x 713 33) Round 4.64246 to 1 significant
figures.
Answer: Answer: Answer:
34) (4x 109 - (9x 99) 35) Find the percentage changefrom9to || 36)  08:13 am To 04:50 pm

54

Answer: Answer: Answer:
37) Decrease 85 by 91% 38) n, -8, 39) (794
Answer: Answer: Answer:
40) Find the mean of the following set of data: 41) Find the mean of the following set of data: 42) 4/123 of 246
0.5,0.3,21,0.2 0.5,0.3,21,0.2
Answer: Answer: Answer:
43) 4 ,g0f 246 49y 11195+ 619, 45) g8k g7

Answer:

Answer:

o916

Answer:

Copyright 2023 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

March 03, 2023

Sr: 03032023-3016
MATHS WORKSHEET %

11-PLUS
SATS  SC
GCSES \Z

46) 3400+ 100

Answer:

47) 'What isthe probability of rolling a
even prime number.when rolling a
dice

Answer:

48) Convert the following mixed number
48/, into an improper fraction.

Answer:

49) Convert the following mixed number
171815 into an improper fraction.

Answer:

50) Find the mode of the following set of data:

52, 52, 82, 82, 90, 90, 90, 90, 83,
83, 83, 33, 33, 33, 33, 38, 38, 38

Answer:

Total: /50
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1) 10
8) Yy

15) 150
22) 119.1
29)9

36) 08 Hours 37 Mins

43)8
50) 90
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2) 16.83
9)j=9orl
16) 287

23) 145

30) 40000000
37) 7.65

44) 1731/981

3) 1030.32
10) 1574/,
17) $401.84
Y
24) 97/
31)16
1
38) 719,
45) 95

Answers:

4)

11) 5195

18) 04 Hours 08 Mins
25) 141/,

32) 251689

39) 720

46) 34
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5)

12) 115
19) 410
26) 160
33)5
40)5.5
47) Yy

6) 27
13) 64.4
20) -40%
27) 160
34) 393439
41)55

48) 81,
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7) Acute
14) 197/
21) 472
28) 160
35) 500%
42)8

49) 108/
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